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QUESTION 1

Which two are correct statements about the Oracle Cloud Adapter for Salesforce.com? 

A. It uses either HTTP basic authentication or username token authentication to perform secure interaction with
Salesforce.com. 

B. It can make both synchronous and asynchronous calls through the Salesforce.com SOAP API. 

C. Behind the scenes, it uses the SOAP API provided by Salesforce.com. 

D. The design-time tooling generates a WSDL that is different from the enterprise WSDL available from
Salesforce.com. 

Correct Answer: C 

 

QUESTION 2

You expand a business rule component that a colleague added to the BPEL process. You see an Assign 

element named Facts_To_Rule_Services. 

Which statement is true about this assign element? 

A. It was added automatically based on entries that your colleague made in the dialog box that appeared when the
business rule component was added to the BPEL model. 

B. Your colleague manually added this Assign element after adding the business rule component to the BPEL model. 

C. The Assign element was automatically added when your colleague manually added the corresponding
Rule_Service_To_FactsAssign to the BPEL model.. 

D. You can delete this Assign because it was created for documentation purposes only. 

Correct Answer: A 

 

QUESTION 3

When you create an assert in a test case, you can specify a Compare By rule of xml-identicalor xmlsimilar. The rule
designates the strictness of the comparison. 

If you choose xml-similar,identify two conditions that will cause the comparison to fall. 

A. The namespaces are the same, but the namespace prefix is different. 

B. An element has the same child attributes, but they are in a different order. 

C. An element has a different name, but the same child attributes are in the same order. 

D. The namespaces are different, but the namespace prefix is the same. 
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Correct Answer: D 

 

QUESTION 4

A company wants to use Oracle SOA Suite to support a zero message loss system. Which three Oracle Adapters can
the company use? 

A. JMS Adapter 

B. Database Adapter 

C. EJB Adapter 

D. File/FTP Adapter 

E. Socket Adapter 

Correct Answer: ABC 

 

QUESTION 5

After you install the OEP product, which action is required to install andconfigure an OEP domain? 

A. Configure the OEP port through the OEP console. 

B. Configure the JDBC settings in the config.xml file. 

C. Create an OEP domain with the Configuration Wizard. 

D. Start the OEP server and enter the administrator credentials when prompted. 

Correct Answer: C 
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